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) BARS (56 ) IR » T ERE ? (1553

(A) (5X6)°=(5X6)X(5X6)X(5%6)
(C) (5x6)*=30°

)EE (7°)=2 154
(A)7° (B) 7%°
(C) 35° (D) 7°

) ((—05))%=2 (154
(A)(—05)°  (B)(—2)
(C)(—05)°  (D)(—05)

YA ((2)°)° =2 a0
@W(=)P @)

©(%)  O1

)EFE (2XT7)°= 2 (104)
(A) 2° < 7° (B)2xT7°
(C) 2°x7 (D) 70

) 5B [(—24)x6)°= 2 1045
(A) —(2.4)°x6® (B) (—2.4)®x6°
(C) (—2.4)x6° (D) —(2.4%x6)°

A AA 5 1
)R (5 x5 )0 =2 105
5 1
A3 x(5)

© (%)°x(5)°

®) (=) x3

(D) 5
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(B) (5x6)*=5°x6°
(D) Pk B IEHE



AT R —R A P147 Bl 7

- 4 r“ e 2-4 FEENE W %
& i = et BE ELIO i=niziER e )

O ( ) NYINETETEEER 2 (155)
(A) (—2)° X (—5)*=(—2)*X(—2)*%X(—5)*=4x [ (—2)x(—5) ]*=4x10*=40000
(B) (54)3+56:512+56:512+6:52
2 2 2 2 2 5
©) (=5 ) V+(—g) =5 ) (%) =(-5 ) "=-
5

5
D) (5 )X (B = (5 X (VP = (P2 (ex o =171

2

O( )afE2x5°=2 54
(A) 1000000 (B) 10000000
(C) 120 (D) 60

O( )tE(—2)°%(-5)°=? o)
(A) 500000 (B)— 500000
(C) 5000000 (D)— 5000000

O( ):lE(8)Y+8'=2 o)
(A) 1 (B) 64
(C) 512 (D) 1024

O( )HE((—6)°1+(—6)°=2 o
(A)—36 (B) 36
(C)—216 (D) 216

O )i (T P+(Zr=2 aum
N> Bt O o1

@( )HE(SVP(5)=7 o
AN B35 O O %

O( HE (LX) =2 aom
AT B OF O

O )il (—7)x(5g =2

2
A1 @B ©OF © =
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